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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.
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1.1. An equation of the form 2x* —3x* + 7x* —3x+2 = 0 is called:
(A} Reciprocal equation ..:lguu’:é’

-0 2x* 3%  + Tx? =3x+2=0 =L~ 1.1
* (B) Radical equation =il

{C) Exponential equation giﬁvéﬁo} (D) None of these uﬁ"ﬁ:’/c,ﬁu'

2. K@, [ are the roots of 7x* —x+4 =0then af is: e aﬂ}unu:’,,ﬁ T2 -x+4=0zb-F.a ) 2
-1 4 ) -
(A) (B) 5 © 3 @) =
3. The nature of roots of equation ax’ + bx + ¢ = 0 is determined by: -c‘,tlggff';l’*;((t}t‘fjﬁzé ax’ +bx+c=0=b- 3
(A) Sum of roots P FUJ)/ (B) Product of roots .~} bﬁ/"»
(C) Synthetic division («j u'[} (D) Discriminant  »4303}
4. In proportion a:biic:d, a and d aré Galled: - dsatabicdert 4
(A) Means %3 (B) Extremes (2} (C) Third proportionale£! - (D) None &1y
5. The fourth proportional w, of XV ©1V i W.js: e W BB XV IEVIW 5
Xy vy by
(A) ® ©) v (D) ;}:
6. The identity (5x+4)" =25x* +40x+16 is true for ceend L (Sx+4) =255 +40x+16 oL\ 6
(A) One value of X iﬁo{f‘_‘gd/x (B), two values of x iéuk;»p(x
(C) three values of ¥ L. L usdfd x (BY/ail values of x izf_uigfﬁu(x )
7. A collection of well defined objects is called: - w&/.’ 6?15 Is .7
{A) sub set ..{Cf{ (B) power set Lrsh (C) set ( &r (D) super set ._,_»_7;
8. fA< B then AU B is equal to: -g_tn/.r/,AUB?xAgBﬁ 8
(A) A (B8) ¢ (€) B (D) None 1y
9. A histogram is a set of adjacent: _ _y?%;:fjjd § .9
(A) Rectangles §Us*" (B) Squares KU T (C) Triangles §U# (D) Circles Kusss
10. Mean is affected by change in: ce b e L S A bsidl> .10
(A) origin  &"/ist (B) value =7 (C) ratio =) (D) proportion —t
11. secfcotf=........... secdcotf=......... A1
_ 1 siné
) sind (B} coséf © sin@ cosf.
12. A chord passing through the centre of circle is called: ,é,tuf},m,z__,fc,f/&(_ju 12
(A) Radius (s (B) Diameter 4 - (C) Circumference %3 (D) Secant isab
13. In the adjacent figure. Find semi circular area if P ~, /';J{x,?)l{z_}l:_wu’:gﬁéﬁda 13
7 =3.1416and ;mOA = 20cm - I I mOA = 20cm <7 =3.1416
A (] B
(A) (T, 62.83 g cm (B) Uy 31416sqcm  (C) ¢y 436.20 sq cm (D) £, 628.32sqcm
14. The semi circumference and the diameter of a circle both subtend a central angle of: J};-Ku!’n/ﬁu Widl e 2y 14
- o S w2l
(A) 360° (8) 270° (c) 180° ’ (D) 90°
15. How many common tangents can be drawn for two disjoint circles? S‘ugég;iﬁl'v,'/;}zéw,’fbﬁ’ G?f/:f:: A5
(&) 1 () 3 D 4
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8.8.C - (Part-iI) -A-2022

[ Roll No. St ( For all sessions )
. Group-I-u,d/f
Mathem atics (Science Group)(Essay Type) = . P 3 : (dt’ﬁf)(g,,jif"’p) U‘ L
Marks: 60 w 4"’» Time:2:10 Hours 2’-.2:102::3: 60: ~
Section -I 2x18=36 : L,L‘ﬂ.b: -f
2. Write short answers of any six parts from the following. 2x6=12 -g[/'}fal,b?ﬁgédz&ga_ékdbbb» .2
.. Solve by factorization: X —x-20=0 _é_‘fffd f.::u}y g
ii. Write the names of the methods for solving a quadratic equation. -u:.‘”,‘ztﬁu;? b &SI s i

iii. Solve: V3x+18 = x ’ ~SSH NBx+18=x i

iv. Find the discriminant of a given quadratic equation.  2x* —7x+1=0 _‘,{/?:L”aﬁ(}/'&.bv&w&@; iV
v. Without solving, find the sum afd product of the roots ,a_iF}"‘.,,)J“ bl osZ e Setis
of the equation. Tx* =5mx+9n =0
vi. Write the quadratic equation having the roots™ 5. -’4"6:.1,(/&/:»601 ,5u’L .vi
Vil. 113(4x~5y) = 2x -7y find the ratio X: ¥ : i x Vel i3(4x-5y)=2x -7y fi i
. viil. Find a third proportional, (x+ y)2 , X Q-2 »? -é_é?k’qb?l/f viii
ix. Define ratio and give an example. -’4}’3‘)&..@,1’4}-/4 Pl ix
3. Write short answers of any six pérts from the following. 2x6=12 _y/, ::gbz/"?é,fzu;c,éfc.wdsw 3
.. What are partial fractions? AR
x—11 -
ii. Resolve ?nto partial fractions. : m -’qﬁ:):.y s Gz i |
iii. Define one-one function. , S8 S FGss il
v. I X={1,4,7.9} and Y={2,4,5 9} then find ¥ (] X _ _a_éF}v YNX %0Y={2,4,59)mix=(1,4.7.9)/F iv
v. Find a and b if: (2a+5,3) =(7,6-4) :/‘lé_;{r:"’bﬂla v
vi. le=¢,T=O+,thenﬁndXﬂT_ : -u_‘/f:‘”XﬂT]ﬁT=0+ 'X=¢ ) vi
vii. Define a frequency distribution. : -a“{._gf&:w W i
Vil Find the arithmetic mean for the given set of data: 200,225,350,375,270,320,290 LA £ i
ix. Define Median. -2}{.@ /U:;(b/, ix
4 Write short answers of any six parts from the following.  2x6=12 -q)}f:,yz/"?édzuga&‘é.u:‘).s@; -4
i. Define coterminal angles. ; -e;ig/’JQ,qujf i
ii. Convert 225% into radian. ﬁ -a“,{@;‘,tcggjl 2259 ji
P.T.0 (eGh-&3)




- Fing. 7, when £ =4cm | 6= % radians. R“ﬁ Q122 (im0 :% LLfg ST
iv. Prove that: : T (1 ~sin’ 9)-(1 +tan’ 9:): L - g _gfcf.& A
v.-Define acute angle. = .- - o LABREINE B SR e o W -ééc—éf/?@:l)ub v
vi. Define secant of a circle.. o . i ‘ ’.&_{..}c}ﬂfbtfﬁ'&»fb Vi
/il Define chord of the circle. . S . o -é?KJij;Lo}l) vii
Jiii, Define escribed circle, ' s mEE T g i
ix. The length of the side of a regular pentagon is 5cm what is its perimeter? e b1 " SJQJJ é‘ Luj,}” L ix
~ Section -II 8x3=24 (1320 ‘
Note: Attempt three questions in all while Q:No.9 is compulsery: -c‘,d)US/;}dIf,?L{zQ/.aleﬁamrof W g
(a) Solve the equation: Jx+3=3x-1 -gd’f \/;:5 =3x—-1=bt () 5

(b) If @ . B are the roots of the equation x* — 3%+ 6=0.Form  Jumul x* —3x+6=0=tls B @ S (L)

an equation with roots % ) ’% % s % u:/b:o‘ﬂ/‘c,uﬁué_.ﬁé.)

(a) If 'S’ varies directly as U2 and invesly as V and S=7 whef .«U=3_2S=7 sl Fe Ve, Fe UK 's S () 6

U=3, V=2. Find the value of 'S' When U=6 and V=10. -xV=10u'U=6.?.a_§FJ’”:,f J "SI V=2
9 .
(b) Resolve into Partial fractions. m _42}:‘{ LGz (L)
(@) If U={1,2,3,.....,20} X={1,3,7.9,15,18,20}, and  4X={1,37,9/15,18,200U=(1223,.....,201S1 () .7
={1,3,5,......17 then verify that: Y-X=YNX' -’q}(;f_l-:-?ﬁY={1,3,5, ...... 17}
(b) The length of 32 items are given below. Find the mean length and »,nJﬁ%;ﬂw;.J_saﬂéyJw 232 ()
standrad deviation of the distribution. _u_‘/?':"’.j W,gw,v&y
Su Length 2020 23-25 26-28 29-31 32-34
ey Frequency 3 6 12 9 2
sin’ 6 sin” @ '
(a) Verify that: — +cos @ =sect = +cosf@=sech _ '(%{_:,ﬁ. (U 8
(b) In and around the circle of radius 4cm. Draw a square. _ _th-,.d//;pswlLJ';AchiuKa_}bvg )
Prove that: a straight line, drawn from the centre of a circle to bisect a S (n;ﬁﬁ))ufr eIl Ayt é:,{.-f.b 9
chord ( which is not a diameter) is perpendicular to the chord; o = brtssy Fpels Vs d_ S i
OR ‘ L

'rove that: any two angles in the same segment of a circle are equal. - sli(% LU Cla o Habd G Ling o152 é;,.{..-z,b‘

\T.0 18-10-A- : ) o



7?:/ S.8.C - (Part-Il-A- 2022

‘Roll Na. o S osh el ( For all sessions ) PaperCode | 7 | 1 | 9 | 2
Mathematics (Science Group)(Objective Type) Group-H—.._A/( (u"/’)(uu(f"'tx)v‘a(d
Marks: 15 R,wﬂ y X% Time: 20 Minutes &#20:3s 15: 4

W _//:._«'9{ L4 sDA,C,B A.,u;/mz_dsy/&ﬂ/& (2 Szl e rp g s
_u¢£¢wdymfmgmjm;utnméatCBx A sz b Ay iz
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
sach question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

1.1. The solution set of the equation4x® —16=0. : -‘4:41)"( 4x* =16 =0=hblr 1.1
() {+4} 1) {4} © {2 (o) *2
2. Sum of cube roots of unity is: -+4:5K¢C)!/Jg£db/l 2
(A) O (B) 1 (c) -1 (b) 3
L e ,/jare the roots of X* —x~1=0 Jjthen prbduct s 20 ?um_/juﬁ. X —x-1=0on-B.2 3
of roots 2@ and 28s ' i b S KU:LL 2p
(A) -2 (B) 2 c) 4 (D) -4
4. In a proportion a:b::c:d, b and c are called: -ugLMcJ;lbufa':b::c:d../ti' A4
(A) means uib’: , (B) extremes 4/ (C) fourth proportionalt#% (D) None A3
5. The third proportion of x> and ¥” is: ce L Y x5
2 4 2
y / 2 y / , y
A) /2 ®) ¥ © /e D) ° /e
x4 2 L. x+2
6. Partial fraction of (x4 l)(x2 +2) are of the form. -ujdnJ(i---z/d:ZJ (x+1){x* + 2) 6
1 4 Bx 4+ Ax+B N (B A " Bx
A %11 x*+2 B i x+1 xF+2 © 12 @) yi1 x+2 .
7. A collection of well-defined objects is called: - bler K;_L/‘l(‘j fs .7
(A) Subset s ¥ (B) Powerset &rsl (C) Set o» (D) Superset zrs
8. (AUB)UC is equal to: «Qtﬁxl/.(AUB)UC .8
a) 4AN(BUC) ® (4UB)NC ) 4U(BUC) @ 4N(BNC)
9. Mean is affected by change in: ' ) -q,trjlif}chfJi._--L/;!L}u 9
(A) value =4 (B) rato =’ (C) origin  &UE (D) rate L/
10. The most frequent occuring observation in a data set is called: , -:'.GMMGUL Lr/uhc../u‘;l;’gf( .10
(A) Mode ol (B) Median .:-» (C) Harmonic mean wa..ﬁf(’ (D) arithmatic mean leg}l;
1 1 ‘ 1 1
11. et r——— R Y MNP,
1+sin@d 1-sind l+sin@ 1-smé
(A) 2sec’ @ (B) 2cos’ @ () sec’ @ (D) cosé
12. A complete circle is divided into: -c‘;t'lglfr‘:;/ fc.fbd"[ A2
(A) 90° (B) 180° (c) 270° (D) 360°
13. A line which has two points in common with a circle is called: -{_—VU‘”CU%J s e Ll 13
(A) Sine of a circle Sineke 7 (B) Cosine of a circle Cosinebe 713
(C) Tangent of a circle Tangent e 71 (D) Secant of a circle Secant bl
14. The length of a chord and the radial segment of a circle are congruent, c;/:xw/f/ubUJJl://:l/;u*c_/':J 14
the centeral angle made by the chord will be: K __ ~J;u/}Ul«<_
(A) 30° (B) 45° (c) 60° (D) 75°
15. The tangent and the radius of a circle at the pomt of contact are: Y (—— ;/::uggﬂ:u:ljt’b’/_?h .15
(A) parallel JJ#L  (B) notperpendicular %+ (C) perpendicular =% (D) not paraliel X85

K 19-10-A-%-
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i{oll No. S psat '(*Fbr'”ail"l'ésessions ) —

”’“Mathematlcs (Sc1ence Group)(Essay Type) Gmup-ll—u}/( (dlz")(u}/(u“' V)Lf LJ
Ruf4 2D rime:2:10 Hours £ 2:10:5% - 60: a

* Marks: 60

Sectlon -1 2x18=36 s>
2. Write short answers of any six parts from the followmg 2%X6=12 -u‘f f,..«u:’/‘iirlf'lic;dﬂ' ;ﬂdbzw 2
% x+1
R 5 -u:"ﬂuffd/y»fguu&w .

i. Write the quadratic equation in slandered form.
: ox+1 X

ey o i
-q/d"dfigu;_ x2-x-20=0 .

ii. Define reciprocal equation.
iii. Solve by factorization: x*-x-20=0
ux"‘l"ul"S"ujuJ:u)"de R T IRY
(P essier K2 S ataBnn Vi
W —5x+3=0-2
-eg:J@,g,,;g_g e i
3x=2:4:2x+3:7 _ .ﬁ%{p"ﬁu_’d/x viii
._)/%5?: "x'eix=3 Y =4J,~IJ’°C;1C'/(1 ix
ax6=12 2z Py e St dits 3
et S
ii. Resolve into partial fractions: ’(;;T)'%(_x__'?)' ..’:",{Jf-? LG i
XUYand XNY -z,éF,WnY={2,4,5,9} X={1,4,7,0}]1 i
ey S ST v
_u:f’@fl}[.c/jtw v
-4@’*LxM}xM={d,e,f,g}‘L={a,b,c}f: vi |
vii. Find the range for the following weughts of students. -’qﬁ?ﬁ’u/&;}lbu 56»‘Cu)‘_‘)w vii |

110,109,84,89,77,104,74,97,49,59, 103,62

(9+4w+4w?) AT

iv. Evaluate:
v. Write the quadratic equation having roots 1,5. -
vi. Without solving, find the sum and product of roots
of quadratic equation. x’ ~5x+3 =0
vii. Define ratio and give one éxample.
viii. Find the value of Xwhen:
iX, lfyx“:;andy=4whenx=3ﬁndxwhen: y =24
3. Write short answers of any six parts from the following.

i. Define a rational fraction and give an example.

iii. 1f X={1,4,7.9}, Y={2,4,5,'9} then find.

v. Define an onto function and give an example.

v. Write De Morgens laws.

vi. If L={a,b,c},M={d,e.f,g} then find LxM.

, _a{_a Sl i
AR YL DY/ -V

viii. Define Arithmatic Mean:

ix. The sugar contents for a random sample of 6 pacts of juices of a Jix
certam brand are found to be in mnh gram. Find the median. -J/(}"‘.,w/;‘:,dﬁuf;c»duwué
%' £ 232725293119
| - (-5

P.T.O



4- Write short answers of any six parts frgm the fcﬂ:win o axe=12 g fein Al g e (e Lits 4
e P F LS 1—c0s” x J2
: -Z?K«J_iufwzzf ~150° i
(=S2om . 0= 45" £k T i
. -q?;yiJ,,lJ v
‘ eIy
s TS i
B yFSnLe i i
L 375 i
?%)yt_fc,uu ix

-
L 4

- i Simplify expression 1— cos” x to a single trigonometric funciton. .
i. Convert =150° to radian. |
iii_,Find ¥ when{ = 52072_1_:, 0= 4_50,4- B | i,
iv. Define angle.

v. Define projection.
vi. Define secant.
vii. Define chord of a circle.

viii. Define diameter.

ix. What is meant by vertex?

-

Section -11 8x3=24 (122>
Note: Attempt three questions in ali while Q:No.9 is compulsory: _gd)us/?dlr.?.g&;@uzéammf‘}(:.:,i
5. (a) Sol o el #40,_7 e (I
. (a) Solve the equation: o _ ‘ cta i-a 2 v ~&Jra s 5
(b) Find P if the roots of the equation % — x+ p =0 differ Lxt-x+p*=0 al:vﬁéﬁ’af §p )
by unity. ..m_})ﬂdju
a ¢ e a ¢ e e T
6. (a) |fg=§:'f‘(aab,cadae=f¢O)then show that: - f.ﬁ;-fqe?g?gz“f(a’b’csdae’f¢0)/7 () .6
: 2 ' 2
ac+ce+ea _| ace % ‘ ) ac+ce+ea __race %
bd+df + fb | bdf bd+df + fb tbdf
3x+7 . . '
(b) Resolve into Partial fractions. (x+ 3)( 2 4 4) LGSR G (D)

7. (a) If U={1,2,34,.......10} ,A={1,35,7.8}, and IA={1,3,5,7,9}U={1,2,34,....... 10151 () 7

B={1,4,7,10},then verify that: (B,— A)', =B'UA _fa‘{:/.E?ﬂB={1 4,7,10}
- (b} Find the standard deviation "S" for the data. 9,3,8,8,9,8,9,18 . -.’;:i?:"’"S".Jif'ldj_LvKﬂfLé.: )
S /1 +cosf siné "
8. (a) Verify the identity: - = _5;:&‘..:) v (W) .8
1-cosd@ 1-cosé = ,

-4_(3.5Jl;/{4_}lng )

(b) In and around the circle of radius 3.5 cm draw a regular hexagon. _u:,b;u’»/(f’/zl;/}'/}’LJV
ircle on a chord bisects it. be{_}:gf( e IrLe f/f,{:f.t:’ 9

9. Prove that: perpédicular from the centre of a ¢
| OR - § IS
Prove that:.the opposite angles of any quadrilateral inscribed in a,,[J-&GJLJ;Q?,d’}bJ;ﬂ:JCf é(:f.&
3 circle are supplementary. ' » , | T BEEE e -u_ra"_m,:mff’_l.-’
P.T.0 20-10-A-____ = " % )
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